























$$(t, \varepsilon) - Ml = > (t', 2\varepsilon) - SS \Rightarrow$$

$$\Pr_{m \leftarrow X} [A(E(m, p_k), p_k, h(m)) = f(m)] > \Pr_{m \leftarrow X} [S(h(m)) = f(m)] + 2\varepsilon(n)$$
or,
$$\Pr_{m \leftarrow X} [A(E(m, p_k), p_k, h(m)) = f(m)]$$

$$> \Pr_{m \leftarrow X} [A(E(m, p_k), p_k, h(m)) = f(m)]$$

$$> \Pr_{m \leftarrow X} [A(E(m, p_k), p_k, h(m)) = f(m)]$$
or,
$$\sum_{m} \Pr[X = m](\Pr_{(p_k, s_k) \leftarrow G(n)} [A(E(0, p_k), p_k, h(m)) = f(m)] + 2\varepsilon(n)$$
or,
$$\sum_{m} \Pr[X = m](\Pr_{(p_k, s_k) \leftarrow G(n)} [A(E(0, p_k), p_k, h(X)) = f(X)]$$

$$- \Pr_{(p_k, s_k) \leftarrow G(n)} [A(E(0, p_k), p_k, h(X)) = f(X)] > 2\varepsilon(n)$$

$$\Rightarrow \exists m' \in X, \text{ st. } \Pr_{(p_k, s_k) \leftarrow G(n)} [A(E(0, p_k), p_k, h(m')) = f(m')]$$

$$- \Pr_{(p_k, s_k) \leftarrow G(n)} [A(E(0, p_k), p_k, h(m')) = f(m')] > 2\varepsilon(n)$$

$$\Rightarrow \text{ as there exists a pair of messages for which (*) does not hold}$$

$$\Rightarrow (t, \varepsilon) - MI \text{ does not hold}.$$